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https://www.math.net/arcsin

Ex:  If sin(x) = 0,
then   x = arcsin(0) + kπ = kπ

Ex:  If sin(x) = 1/2, then since arcsin(1/2) = π/6 
x = π/6 + 2πk = arcsin(1/2) + 2πk or 
x = 5π/6 + 2πk = (arcsin(1/2) + 4π/6) + 2πk

= (π - π/6) + 2πk = (π - arcsin(1/2)) + 2πk

y = arcsin(x)

https://www.symbolab.com/

If sin(x) = z, then 

x = arcsin(z) + 2πk     or     x =  (π - arcsin(z)) + 2πk

Note:  you have sin(ay), not sin(x).
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https://homepage.math.uiowa.edu/~idarcy/COURSES/100/SLIDES3/ch2_2023part2.pptx 


